KR7EE REFSHELR
BERRERAEREHRR EREERBEER

-

X ¥ ffi 4% B M R

EH I Hifir BE BAE &8 PER =
2L p
] / / 7
Filioe 2] =Y 1.0 7,008,000 |B1B-HERE
/]
E3i5-6is 7,008,000Z
. . 7 / . 7
ek €l AOR: ok lzh: kit A % 10.0 |~ 7,008,000 | ~ 700,800 |
A
&% 7,708,800 |
/ BUREAEA B SMIECHIR -

1/13R=

SHBERASAE STTECHIE

%



18 pRE REEE
®E I BAT %8 B ki) AR iz
e -
| memet Csaspam |l
L6
Firkok:cyc] EN 1.0[7 /299,566 d 299,566 |£51-5 B {fiz%
HahE EN 1o[” 140,179 140,179 {52 88Tk
B STE Eo 10"/ 308368 | - 308,369 153 iR
SR B 1.0 7 622,760 ¥~ 522,760 (B4 B MR
AHyNEE & Lo~ 923,760 | 923,760 {855 SR
BAT- B8 EY 1.0 1,104,100 |- 7 1,104,100 [E6 BRIk (EEE AM45%:1,104,100)
oty =% Lol 163,750 163,750 |7 8 84
IR R E- L.0[~ 30,000 | 30,000 |58 5 Biffisk
e | o assstel
ZOMRIE s 1.0 | / 594,557 |
— R % 1.0l / o14,726 |~
B OEEER X
, 84.0% [ .
Giis:d e 1.0}~ /2,006,233 |~ TR
pa
Craa 7,008,000’
2/13R—Y
%1% Mk R OE B / 1ztin
%8 4t Mgt | owpy | wm | we o iR i
T R e R O S B e
BUBEEAT AT A 1.0 60,600 60,600(
BT A 730 52,3001” 156,900}
blpes i A /,1.5 < 41,1001 61,650{
HEELF A ‘o5 . 34,900;5 17,450 .
EgEr el e e geel
Fiazras % /10l 7 296,600] ./~ 2,966]"
&at 299,566) #
3/13 =




%25

Bz

# M E R

Rk

®H

2%

S

CEE AR |

Bt

il

R

57,400}

AR

— i

HIRAEE B

Lo~

28,700

o 57,400

ri

R

o

Lovaeme| T

ovZ

o

/2.5 -

3 -
32,557]

[ 81,392

&g (e

%

Lol . ) 138700

1,387 -

s,
.

S h140,1790"

i

4/13R~T

%35

B

EER0ERE )

1R&p7eh

%H

BB

S

ELRAER

s ~H

o | BE__ ¥

G/ 288,500

AR

i

wac

1.0]7

! 60,600

i 60,600

bl 53571

“2.0]7

‘ 52,300

i 104,600

T

- |

0]

<41,100{ ~

123,300
£

R

=

/19,8697

s /[

FARR 2L .

— v
6,623

< [ 19,869

(550 5 M 5

|im2h/A38h

>
Ed

L 308,369

5/13 R—%



/
%48 WER SRE / 1EbID
®E | 4w | mmenw | oy R i & e e
B A La.0l 7 “sog00] - < 121,200 o
B A ./ 200~ ¢ 52,3000 7 104,600{
Ve A /20 Za100l -/ sag00] ~
ERER S ol e e e Maraee] e P )
REE FAMSy 2L H J 2.0]< P 13,246 552 kR B4 HiEeh /gt 3sh
w7 FRP D 70PS B 2.0~ 85,257) 170,514 |83 B MBI |siken
CNSSEIEH © 148 R H 2.0] 13,0000 26,0000« Proeeya)
K A7 B / 2.0 2,500| .~ 5,000 Eiston=xa)
I
ras 522.760) 7
6/13R_—
‘ - /
% 5 B MR ARV hHE ! 1D (128145)
#E % gt | oy | omm A ot AR s
Il T -
FIBEEHE A R R
Esm A /20| + ~'52,300|”  / 104,600[~
bilp-es ik N A /30|~ < 41,100}" - 82,2000~
P B REE0~20mAR |
Wkt [ |gqs— A / 8.0 ~ 57,700 < /461,600] < BT
Eewr | [ T ol e b el e
i ARt 2L, B /2.0l Josml  ©  13oelfrnmEnns  meon/aksn
@y < |FRP D 70PS A /2.0 85,2577/ 170,514/ SmENTR | stsen
GNSSHIEME , |15% (2/F%) B /2007 13,000 & 26,000} BEET
KRHIAT H /o0l 2,500 £ 5,000 Fistoeexa)
St Ligpameo]

7/13~—-=2



9/13R—Y

%65 WE g B - & 8 15D
#H 2% ki LA ¢ - S — &4 AR ks
O T e i
a7 |me A Lo < ‘eso00]” 200,700] 2~
sEm(a) 7 et A < 30|~ “g9,600” 178,800(7
HE(B) / E A C 40 z /48,500] 194,000/
R (C) ~ Rt A C 60 403001~ 241,800 %
e/ Bt A 80~ d100] < ossgo0] L
va N
&t 1,104,100
8/13R—Y
15 MR 1685 b HE % 127h]
T a% | meectr | wy | we Wi | e A "
EEAgE | L b P e e e e esea) s
e A 7157 60,600 ” 90,900}~
s A L 10l 52,300] 52,300
li=%5d A /05 5 41,10/0 20,550| 7.
Coxiid L qegsel
e



%8 B Wk Z 5% R R B e
®H EX ki AR Bhr ke S B &8 HER =
EEEn e B : e B Cso00l o o
] HBERES / E Lof ~ 30,000]” 30,0000,
RARER CRBREERA)
X(L08+ (RBIBRTEX090)
v ‘30,000 77"
10/13 R—
/ —
E VEEHE (FoyZ 2tFF 98kW) .
£ Hk -~k Bifir BE Bl &8 WER i
Yo ia] Yyt / 180] ~ - 156.0 2,7190]./
|—gEmE A /10|~ “95,400{ . 25,400] .7
izt Pl i) faal - T om3| - 1,283| -,
Fizta i B f13] 2,730 3,084 /

N/13R=




ZARE (AR 2000cc 69kW)

£ 2 % EEEER HHE] B b GEAE2h, BEgsh)
£% f5H ok Bifr e M &8 PIIR e

m AV Yy hiv /7.0 o —175.0] < 1,225]

[t = P 2.0] - /987 574] -

it i B /119 .~ 1,580 - 1,880 -

AR YT~ PR A / 20 1,472] 2,944

&
12/ 13 R—
%3 5 EENER FAEH (FRP D 70PS  3t51kW) A1 E 1D (Bhsh)
AT Bkt Bifr & B ik AR HE
ES s A Yy 14, 103.5]” 4,554] <
B A 1207/, 34,600] = 41,520]-
fistid Bt B 1.0 / 3,210[ -~ 3,210("
Fistis i B 1.65]./ 3,360 5,544]
SIRE I R e 13,6161 - 13,516 ~ ﬁiﬁﬁﬁ%sﬁzmﬁ%
—REERS =% Lol 16,914] 16,914] — TR SR 7Y

13/13R”%—=Y



